Math 10 Workplace Formula Sheet

X
_—
UNIT3 1inch = 2.54 centimetres
En .
- 12 +3 + 1760 1 foot = 30.48 centimetres
x 2 danm inches —» feet —® vyards > miles 1foot ~ 0.3048 metres
™
dm inches ¢ feet ¥ yards * miles 1yard = 0.9144 metres
(m <o %12 %3 % 1760 1 mile = 1.609 kilometres
MM
<
Common Imperial Imperial and SI S1
Length 1 mile = 1760 yards 1 mile = 1.609 km 1 km =1000 m
1 mile = 5280 feet lyard =0.9144 m I m=100cm
1 yard = 3 feet 1 foot = 30.48 cm | em = 10 mm
1 yard = 36 inches linch =2.54 cm
1 foot = 12 inches | foot =0.304%
Geometric Solid Surface Area
Cylinder A =grt
E—Tf’j i Apase = nr’
= A, =2mrh
SA =2nr? + 2mrh
Sphere SA = 41’
/ /"\\ or
[ S
Kg/ SA=nd*
Geometric Figure Perimeter Area Cone A nrs
Rectangle P=2042w Apse =
" , or A=lw SA =mr? +mrs
P=2(l+w)
Triangle Aviangle = %bs (for each triangle)
4 ¢ P=a+b+c A=%h =b’
b SA = 2bs + b*
Circle C=nd SA = wh+ wh+ by + bo + lh+1h
/ r or A= 1'|:rE or
\‘L/ C=2nr ; ‘ SA =2(wh+lw +1h)




UNIT 4

Geometric Solid Vo LumMe
Cylinder
f‘j h Vet L
Sphere
y,/ /?: vednr?
\\\_7 / 3
Cone

Volume 1 gallon = 4 quarts 1.06 quarts (US) =1L
1 gallon (UK) = ¢ gallons (US) | 0.26 gallons (US) = 1 L
32 fluid ounces = 1 quart 3.52 fluid ounces (UK) = 100 mL
3.38 fluid ounces (US) = 100 mL
Mass 1 ton = 2000 pounds 2.2 pounds =1 kg 1t=1000 kg
(Weight) I pound = 16 ounces 1 pound = 454 g 1kg=1000 g

lounce = 28.35 ¢

V= Leway

Unit5

Temperature
_S(F-
C=5(F-32)
=9
F= 5 C+32
Trigonometry

(Put your calculator in Degree Mode)
¢ Right triangles
Pythagorean Theorem

a’+b*=¢"

. opposite

sinA= ————

st hypotenuse B

cos A = adjacent ; c
hypotenuse

tan A = OPPosite C b

adjacent




